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1C1 ‘ Dx X Dy ‘ 700x700 17 ND | MAX ’ MDX | MAY | MDY ’ H My | &My Gr=2 RELL | ¥IE
frE 1F/ X1/Y1 g | X | 214 | 40 87 | 440 | 87 893 279 £ 0.20 OK
4000 Lo 3750 dt 73 By | 214 | a0 87 | 440 | 87 893 279 Ry 0.20 OK
Fc 24 Fy 345 Fys 205 |4 | X | 202 | 804 185 | 804 | 78 893 481 -E0 0.23 OK
(55351 X [pt, pw] Y [pt, pw] By | 202 | soa 78 | 804 | 185 893 481 -E90 0.23 oK
+ | BH 6-D25 [0.62] 6-D25 [0.62] HAM | La Sa | LQA | SQA | Qy QD Type =2 BEL | HE
B 6-D25 [0.62] 6-D25 [0.62] X 1.00 | 1.00 280 | 512 | 325 @ -123 B -E0 0.24 OK
HOOP 2-D13@100 [0.36] 2-D13@100 [0.36] Y 1.00 | 1.00 280 | 512 | 325 @ -123 B -E90 0.24 OK
A L:p) 1Al AN
T TR A FER
WEESY s AR
X Y X Y X Y X Y
& 214 214 87 87 -78 -78 -39 -39 -39 -39
§=3il)
RIELL - - 0.20 0.20 0.18 0.18 0.14 0.14 0.14 0.14
f& 187 187 18 87 29 -78 45 I -39 45 -39
+EO
RIELL - - 0.02 0.11 0.04 0.10 0.09 0.08 0.09 0.08
& 242 242 157 87 -185 -78 -123 -39 -123 -39
-E0
RIELL - - 0.20 0.11 0.23 0.10 0.24 0.08 0.24 0.08
& 187 187 87 18 -78 29 -39 45 -39 45
+E90
RIELL - - 0.11 0.02 0.10 0.04 0.08 0.09 0.08 0.09
& 242 242 87 157 -78 -185 -39 -123 -39 -123
-E90
RIELL - - 0.11 0.20 0.10 0.23 0.08 0.24 0.08 0.24

| Qo-0L -39.46kN-+n 2.0Qe 42.01kN-4SKN |
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700x700

1F/ X1/Y1

3750 214 | 440 87 440 87 874 279 i 0.20 OK

345

6-D25 [0.62] 6-D25 [0.62]

6-D25 [0.62] 6-D25 [0.62]

2-D13@100 [0.36] 2-D13@100 [0.36] 1.00 | 1.00 | 280 512 320 84 B +E90 0.16 OK

214 214 87 87 -78 -78 -39 -39 -39 -39
- - 0.20 0.20 0.18 0.18 0.14 0.14 0.14 0.14
187 187 18 87 29 -78 I 84 0 84 0
- - 0.02 0.11 0.04 0.10 0.16 0.00 0.16 0.00
242 242 157 87 -185 -78 -84 0 -84 0
- - 0.20 0.11 0.23 0.10 0.16 0.00 0.16 0.00
187 187 87 18 -78 29 ‘ 0 84 0 . 84
- - 0.11 0.02 0.10 0.04 0.00 0.16 0.00 0.16
242 242 87 157 -78 -185 0 -84 0 -84
- - 0.11 0.20 0.10 0.23 0.00 0.16 0.00 0.16
Qp=n 2.0*QE 42.01kN=84kN
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